Intro Video: Section 3.10
Tangent Line Approximation / Linear
approximation / Linearization / Differentials

Math F251X: Calculus |



Ic@,ea'- M__Q_OL/ o Pa‘./& X=0, Y L«(/vmce befreen The
Vel %’{‘l’t‘k funchon and Y Jalue 3{ e ‘/uhg”‘”

Ling s Ut Qua |
B 7
{(0)
oV
A 7
A(H{r(mu
— b(lj\wem Lunch e
O T Vﬂwwad '/w\fml—
| Clow toon [1ae Vofue

Nowe for tou Hmngqert Line b0 63 ok xea

The Linwritebo, o £ ab Xzou 18 s Lonchion
_ P The ling with slope £'(2)
k L—(X\ 'c (0*\ (X—O“X +'((5\Z ol PaSS‘\"‘{\ W\H\L vog'./\kvr

ey




EXCUM'Q\.L: f(x) = xv"’. Use Linsorizakon /Wo«w Ling ofpommehis
‘o AppoX matt e \Io:lw& ‘~f £(26.9).
D Tht is, afmaie 26
Knsw £(2)=3

-2
'("(X\" _;X /3 -

'r’ (9:“ © 3' ( Z'?\T/; -3 ( 1-7’/3)2

| <)

LG = S(x-2D+3 = L(26.9) = L(27-7%) =
2 (#7756 "N 3 = 0 3= 29963
%Q CDMPMW, 'C(Z(o-(ﬂ: %}AZG'QI = 2.9%29

“(/or = L(Z(«;.qx —-C(Z(o.c\\ = .0000045R d— 4. xp"




TM%U\F Ains. mfppax ima RO Su.mww-ai To OPPOXI uebe (x)at x=1"
D \dwh‘f\q ppOINE o Maor b Whew Utfdv‘ow«ﬁwu‘( Ve
Funchon
D) Constuck dhe Bmaritakion of £ of a, Db
1) s 1) () @) s Vhe Nangort Dine Vo F 2F o

3\ Codrmote. LK) aF X=b &\\%
. : l )
EXMA © Cshmate 002 :‘
W | | /4
‘r(x\ X ) a = 4 ( S ‘("(“‘\'“- ‘Jf- ‘—O-;ZS)
£ () = %(x"\ s-x 0 —x"' go F'(¥)- 'jz_ - "‘—'—

o finsonzckon 4§ ab x=4 8 L= To(x-H+
owd L (4.007)= L(4+ 1560 ) - ’%(_\% s L - 5300 ~ 0, 24955

L (‘-}.00’2,\ = 0.-742€1706L4. ..




D fferentals

L dea —Aa\i",ts i(‘j = AjA*AVA°AX = Dy

A X
| ke of =7
Example - Whed- 15 A{\l I~V Ut 4002

_Z_Sj. ~ .pl()a LOM uﬂ(%)" ); -'—-—7“("(’<\= ;—('T'

A\X
2

Aﬁt £ '(4) DX Here Bx= 0.002 = [ 000

QD A:j: — == = — = —-0.000l2%

Dy® ~0-000185 —— AU—“\K%\: ’
L

—Ax —
— —t e

ef «4.002

i

* £00



Expomps = The Cir umftrence of o tphoe v measured > be
84 cn WK o~ gosbls gror of 5 Cm

> Reluhot evor :

—> What is Y moxamm Qror A Y ?Wfau-owm

Rﬁ@ul\: ijw:rw(cver\u = Z2TY =7 = -fi’
g

SA = 4wc”

Deve = ficw = NI = %—l—-— f
R m / 84 con
SA =/ 8 |
—— ,r=_8_:/_ N When Cire =87
ASA T = 4."—(%17
G
|
7{‘1’ ~ 26.7 cem
Q@\o&w& eyrof = eiror ™ SA = 8‘%’“ . +
- - % = 784' 9\. O- 0‘2

+otd SA (34 /o



